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Part-1 (Botany)
(s wies ¢ Tfew [esi=)

1. Define the term geitonogamy. 1
colRgoT e i foralt |

2. What is meant by adaptive radiation ? ! 1
wagal [ie=d T @2

3.  Whatis a gene gun (biolistics) ? 1
& ot (aeaferaan) e

4. Name the microorganism which is used to produce Citric acid. 1

SRl qbu eEe TR IR SN SHGRREE T

[\e]

5. Write a brief account on the structure and development of zygote.

AR o197 I Rl F=ATE B el 41
Or/ 923

What is épomixis ? How is it different from polyembryony ? el =2

SReTG 7 qEEeely @l AR SRy /e

6. What are emasculation and bagging in artificial hybridization in plant ?

1E1=2
B gl Ao e KA Sie EIRFsd S @I ?
Or/ &34l
Explain Miller’s experiment on origin of life. 2
G Gerfe ToIcE et s el gt 54|
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10.

Distinguish between convergent and divergent evolution.

SfoAR] OF SIS FARPE LT & |
Or/ S2€r

Distinguish between exonucleases and endonucleases.

GRS EEE i g ReEEem A B

How do plants get benefits from mycorrhizal symbiotic association ?

TS WS 29 SRR @ aelEs 2?
Or/ 92

How do the genetically modified plants have been useful to us ?

SR RS SR (FEE SIS AR GHAIT 2

What is Downstream Processing in respect to Biotechnology ?

o egfeRme oIl Aafs TE @I ?
Or/ &4
How are somatic hybrids obtained ?
I MFT @S B TR e
Explain logistic growth model of population.
Qi sTgeieT g e i =
Or/ &1

What is commensalism ? Give example of commensalism.

TErsiftrel TR @i TRrelfees Suad @l
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11.

12,

13

How are Baculoviruses and Bacillus thuringiensis used as bio-control agents ?
Why are they preferred over chemical pesticides ? It +F]=5

TSR Wi @barg YRAREmbg © tar R e st @ws 92
=4 T2 Pizs &7 s9ale FoaesoE Az ?

()r/EW%ﬁ‘

What are the five major assumptions of Hardy-Weinberg equilibrium ?
Explain briefly. )

-T2l AR by 72 S B B2 G 0t 70

With neat labeled diagram describe the parts of an angiosperm ovule.
1+2=3

ffze Hom wafiat Sva @bl o wopnE 3 31|

Or/ g9t

Write the scientific name and parts used of plants from where following
alkaloids are extracted. 1+1+1=5
(1) Reserpine (ii) Atropine (iii) Vesicine.

o7l BT Wi 9 S (REi SN Ol TRES SReEge
fewan

(i) RAET (i) QTR  (iii) (SObIEA

Does light as a factor affect the distribution of organisms ? Write a brief

note giving suitable examples. 3

GRS RERETS (AR T Bpist deiffe w2 Sriye Snmemz «ff s
|
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14.

15:

Or /<1

Discuss the role of microbes in single cell protein (SCP). 3

G oIS (SCP) SHE PR SRR SNCsH 1 |

Describe with suitable diagram the development of endosperm and embryo

in angiosperms. 243=5
TR oz ¢aTiG! Serd TEeiT SIF e [ A=t 36T <41 |
Or/ §_1

What is biogas ? Write an account on biogas production plant.  1+4=5

SR e (TR Teoline (21 A 1941 110

Discuss the main steps involved in breeding a new genetic variety of a

crop. , b
T g eI AP S BT ol e AR o SR SIEs 359 |
Or/ 5%t

How can the following be possible for bio-technology experiments ?
‘ 3+2=5
(i) Isolation of the DNA from bacterial cell. (i) Reintroduction of the

recombinant DNA into a bacterial cell.

TR AERR iSe oae MarmR &Ees M6 ?

(i) QIR (FIRT 711 g9, 90| (1) @EIR (@RS {FHHEED Gy,
el | ’
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Part-11 (Zoology)
(TS = ¢ &A=

1.  Fill in the blanks: (any two) 1x2=2

<A 91T = = 8 (7@ e 7o)

(1) The species that invade a bare area are called

wwdiee 2w e @ senfores . #Eife @l

is caused due to the absence of one the X chromosome.

(®)

GOIF X TG T (49 FoTo L 2 |

() The embryo with 8 to 16 blastomeres is called

8 3 +[ 165! IRV TR TS TS Q|

(d) The major reservoir of carbon on earth is

AR T TG T

2.  Answer any two : : 1x2=2

& e 5ia Ted ol e

(@) What is the process of release of ovum from a mature follicle called ?

S5 TR QDR A€l [T emiR QR eI I @i 22
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() Write the Mendel’s dihybrid ratio.
@R AR TS ol

(c) Name the type of conservation in which the threatened species are

conserved outside their natural habitat.

R e Tz Fiaes digfeT SaPTelT »[l wieTe W= T4 Awot
CIEREIT

(d) What are the two basic amino acids which are found in high amount

in Histone Protein ?

28 o'fome @ 73Ry HEE aFabr @bl @ o9l T2

3. Answer any four : 2%x4=8

7 Rz BifEbIs ©es foral ¢

(a) Define chromosomal theory of inheritance.
IefeT e OEd K@l B |

(h) Where the sertoli cells are located ? State one function of sertoli cell.
Bt (PRAIRT SREH 92 SivaT] (PIEs b G i |

(c) Write briefly on phenylketonuria.

izafs NeRaR Raw sae Bl |
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(d) Describe the application of DNA fingerprinting.
... Recols@IfseT ezt 2o <1

(€)  What is the causative organism of the disease amoebiasis ? How a

healthy person acquires this disease ?

ﬂﬁﬂaﬁmﬂﬁﬁﬂﬁ% @ﬁﬁmﬁm@%?ﬂ@ﬁﬂmmﬂh
GF @I SRR 2

() Write the scientific name of muga silkworm. What js the primary

food plant of eri silkworm ?

amﬁwwhwﬁﬁw%mra%mmwwwm

4. Write differences between : (any two) . 2x2=4

R e gor ik e

(a) Linkage and crossing over

AN W% 22 FAerarem

(b) Ascariasis and ringworm

TIRANDE i [ 71 2

(¢) Grazing food chain and detritus food chain.

W%Wwwww

28T BIOL (BOT-ZOO) [8]



(d)  Transcription and translation,
[RRIRARCIERCRS o
5. Diagrammatically express the life cycle of Plasmodium:. 3
T A o Siever e 1|
Or / &3/
Expresss diagrammaﬁcally the various phases of menstrual cycle. 3

IS Forvas [fen vt o a1 |

6. What is inbreeding depression ? State the importance of outbreeding.

1+2
NGATH ST 52 JRserTm @y S 5 |
Or / &34y
Write a note on Greenhouse Effect and Global Warming. 3

CTEST AR U (oIIeTol S0 @o Q<oT (Biel Bl |

7. What are the different types of RNA Polymerase found in the nucleus of
eukaryotes ? State function of each of them. 12+1%=3

REPRCPE (I (PR Rion 2o S, AfeTiTEER & ey
AR S Srme 31|
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Or/ g5

How sex is determined in human ? Explain. 5

TR e v e =2 et < |

8.  List the harmful effects caused by drugs. Discuss the various means of

prevention and control of drug abuse. 8+2=5

meamaﬁmmw;wmwwaﬁma
O Fagels [fem Sl s S < |

Or / 524t

Describe the mechanism of HIV infection. Discuss the methods of prevention

of AIDS. 2+3=5

<2592 fS. TG #mie 6 79| G3or AeERT Toi L A 1 |
9.  What is Genetic Code ? Write the salient features of Genetic Code.
1+4=5
o e 52 foma e 2w iRy R e |
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Or / &2

Answer the following :

wee WAl @99 Tel for ¢

(@) State the goals of Human Genome Project. 3

T TGS s 1% g e 54 |

(b) Explain the roles of DNA dependent DNA polymerase in replication
of DNA. 2

fG.am.q. afcgiorre fb.qm.9. FeaTa fG.qm.q. sfFmimes ofiw! 2 =1
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